
Over The Moon 

 

 

The Earth’s population is increasing, but 
we’re running out of space.  The logical 
option would be to send a ship out to look 
for a new world.   
The Moon is currently up for grabs.  There 
might be a few problems (broadband 
connection, scenic picnic spots), but there is 
enough space on the surface of the moon 
to hold around a billion people (based on 
the population density of the UK).   

 

The population of the UK is currently around 60 million.  50 years ago it was around 50 

million.   

 

1.  Assuming the UK colonizes the moon, and our population continues to grow at the same 

rate it has during the last half century, when would the total UK(+Moon) population reach a 

billion?     

 

 

 

 

 

 

 

 

 

2.  On the other hand, when America was first colonized, the population doubled roughly 

every 30 years.  If this happened on the Moon, when would we reach the limit of 1 billion?   

 

  



Over The Moon SOLUTIONS 

 

 

The Earth’s population is increasing, but 
we’re running out of space.  The logical 
option would be to send a ship out to look 
for a new world.   
The Moon is currently up for grabs.  There 
might be a few problems (broadband 
connection, scenic picnic spots), but there is 
enough space on the surface of the moon 
to hold around a billion people (based on 
the population density of the UK).   

 

The population of the UK is currently around 60 million.  50 years ago it was around 50 

million.   

 

1.  Assuming the UK colonizes the moon, and our population continues to grow at the same 

rate it has during the last half century, when would the total UK(+Moon) population reach a 

billion?     
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= 822 𝑦𝑒𝑎𝑟𝑠 

 

822 𝑦𝑒𝑎𝑟𝑠 𝑓𝑟𝑜𝑚 50 𝑦𝑒𝑎𝑟𝑠 𝑏𝑒𝑓𝑜𝑟𝑒 2013 ⟹     𝑻𝒉𝒆 𝒚𝒆𝒂𝒓 𝟐𝟕𝟖𝟓 

 

2.  On the other hand, when America was first colonized, the population doubled roughly 

every 30 years.  If this happened on the Moon, when would we reach the limit of 1 billion?   
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130 𝑦𝑒𝑎𝑟𝑠 𝑓𝑟𝑜𝑚 50 𝑦𝑒𝑎𝑟𝑠 𝑏𝑒𝑓𝑜𝑟𝑒 2013 ⟹     𝑻𝒉𝒆 𝒚𝒆𝒂𝒓 𝟐𝟎𝟗𝟑 


